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GUJCET
BOARD QUESTION PAPER-1
f ' MAY-2017
Time : 1.00 Hours] ﬁlﬁlﬁ[&:ﬂlci (054(G)) [Total Marks : 40
1 ueld RGAMR 2 00 Y Rgdon 6 ail & wide v MR 3R 2tadl]
g2 wA dul wslR Qyddad dlaa ENER wi edl.
(A) o/e,, oley (B) 0, o/, (C) 0, 0 (D) /ey, 0

2. vl euldd [QgdeuRl Rdani o4 ys P o oy Y% Q A Asdd [QAgd sesu
AL e 0.

!+q
P Q
f i =
(A) Y, Y (B) e g - (O g0 gleg (D) gleg LN
30 RRe-ud wRHs yo 0. i{e"[ﬁgcmmj uRHisL Y Q dl.

(A) M'LPT?Q?  (B) M'L’T?Q? () M'L?T%Q? (D) M'L2TQ
4. A5 [Rar4 Rubig mg;télot XAL2al nad 9. dul P, Q, vt R Blgel wix »izsd
(0, 0), 2, 0) 23 (0, 2) B, dl 2 Figal wd-w Rl 02 DAl sl Fse

Al ¢ ? -
(A) Vpi= Wi Wiy 5V | (B) Vp > Vg, Vp = Vg | .
(€C) Vp < Vg, Vg = Vg (D) Vp = Vg, Vp > Vg j!
5. M+ [Qydast E A uid2 Wy p [Qgd sisula WA Ruadl Ryd addlan Regddsui
180° ged o8l sadi uad s . *
(A) 2PE (B) s (C) PE (D) “2PE
s E | -+ : u
50V |
R .
|
- 10Q |
6. A WMA— "
40€2 |
A —

Gu eqfda Regd wRuaHl 10Q AL 2euuill addl Rygd daw 2.5 A ©, dl a3y

R 4y £9.
@) 500 (B) 40 Q (€) 8 & D) 10 & |
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For GUJCET Common Entrance Test - Physics ‘2

10.

(€

A g6l QAW YR dsN UG, W, Y A RedR sEU UEL . ol d :utq?a\i{.i
S 0. | - |

(A) 320 @ + 5% (B) 12 kQ £ 5% (C) 320 Q £ 10% (D) 12 kQ * 10%

20e WRUAAL U R S, 2ud (Open) € it R4 S, sal» (Closed) sld
4Q <t waduuidl dddl Rgd Hae dedl ¢ ? i

IEIZV /

il = g

5Q '

[ -
6() 100D
(A) 3.0 A (B) 0.8 A )y 15 A (D) 1.2 A

Susellogell 2r Fedl A Az ollsdal R aloi v aAlss ARl 1 Fedl dlaidu
250 [Rausi vz 4 el . dl sl eafda P (Eg vz 2esld dairll dladl

48

SUF

I I

3 ol 21! 2 ! ol
() 5 = ®) © 5 D)

19 3 mr 27r

a Blordl w9 Wil ADEd AoAs HRuddl Rid Rygaudis 1Rd diol gau dies dik
B Geetad Judlu st QAuniall suu 2udu @ euldl usd ?

A

Bl B

(4) \_ (B) -\_
— —

> I
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(D)
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- For GUJCET Common Entrance Test ¢ Physics 3

1. 25 T -l At ol s A 2 MeV AR Glof W Aot qoi3l ald 53 6. dl W
W dlalg ol N usl. |

(A e = 1.6 x 1027 kg, WA ot = 1.6 x 10-9 C)

(A) 8 x 1077 B) 8 x 107! (€ 3 x 1078 D) 3 x 1070
12. m eq 24 g [Qgdez wriad, 9 5o x R il s Rufd qoislu, Asiui &
WA B 59 xz AHdAHL U Ay B, L seed] AR g4,
(A) adaisiz ~ (B) dsa (C) WRaaulsR (D) Y™
2
13. % ! ulﬁm@u ¥l
(A) M'L'T2 B) M'L'T* ,  (© M'LIT? (D) M'L7'T?
14, poA Yrtasial upflaABilad &, o, A 2B &, d sl vela@m@a
(A) B = Mol + ¥ B) b= t(m - 1)
© 1= po(l - %) D) 1 = po(l + X
15, A W Rl il A uR R el wgst | oS wd

ddadenss euld & 5w
(A) (=0, GiAl (B) G, Gl (C) GiAl, afl (D) =L,
16, ARL-URsa 2asu w2 2ex5dld (Objective) I 3radous £y 2 2w (eye piece)-l

Jegdelld £, Sl dl 2larsiudl Adfldl doud Sld 6.

ALzf-fe @BLz2fH+S, ©OL<f+tfe ©OYL=fo~Tte
17. 4 cm 235 ARaMidl s uaR ddi doidl A4y As=s s, YRidl-L

gl afleiadis 1.5 o, v

(A) 2 x 10" (B) 2 x 107° ©2x100 - @®2x1o"
18. 12.5 cm Yzdousd uadl ool A=l ulel ASHRs dily Gualal sl 21 .

R cigd, WQABIEL vrid 2dR HA AR Hleqell 23l. Ay ¢ He near

point 2id2 25 cm dl. |

(A) 25 (B) 2.5 (C) 2.0 D) 1.0
10, YR ozl wdloi, Beart-euidl Giedd $aAsgd V dleaell 139(ld sl 204 dl,

1 SAsAA] goeloell it dous m Y.

2Vem h J2Vem h
(A) ﬁ (B) g;{;m (©) h (D) W

20, 1 eV v 2.5 eV Qof uxadi £1249 0.5 eV ab s wRladl wg U aisdl wudld
ar Ad B, dl Gl adl SAsl Hedd ol Yeil

(A)1:3 B)1:2 € 3:1 D) 2 :1

2. s AC. ozl HSadl 100 izpl B. A ddl 2B AN 2.5 m® §. 554
60 rad s~ <1 Rufd fAela aaell 0.3T <L A orgludoiil MEL 52 9, dl B2l

Ggetdg, Mead Qg = kV 8. |
(A) 1.25 (B) 4.50 (C) 6.75 (D) 2.25
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4 For GUJCET Common Entrance Test « Physicg.:
22. %l R 2 L 2 egs? 2adly 2 audidlasct safd . 2 i uRuel wud ¢
(A) \/-f— ®) © ©) \/r-}g D) =
R R L. L
23. s AC uRuEMi 3 A uale dul 210 'V Red RakHAAL dsldd ©. 2l WRuaHi auid)
Waz 63 W oeld dl wer $522 |
(A) 0.11 (B) 0.09 - (C) 0.08 (D) 0.10
24. »e A.C. vl 1 = 50 cos (100t + 45°)A e Hellgd rms H&d = AW,
(A) 4 (B) 50+/2 (C) 25 (D) 2542
25. 3 m H Seiged A 4Q 2ady wrladi L-R Al A.C. uRuad V = 5 -cos (10000
V @ ) wsddt 2d 9, dl WRuaml MedH Udldd et A w9l
(A) 0.8 ® 10  (© 2 (D) =
| 7 | 7
26. Adse Axui AU SIAL AL sl H (Zanli-l Guulol a4 6.
(A) ez de (B) 22unslall (C) (D) $e5133
27.  sclizll YAR Adi 9 GHz 2udfitl @B 2 1 m dad els dai-l v
Sld. |
(A) 30 . ®)S (20 O3
28.  doil MRSl ML A 6L B2 a2l 2R aunda usiasll d3adenss g % Q‘m
dl Yiel U auikdl quid sedl wslia geustall 1ol ?
(A) i-id (B) 3 @9 (D) 5
29. 10 cm oL Aexlraqaiat elazsiu-dl siella [Aded rad 9.
(ustall dadens 6000 A dl)
(A) 7.52 x 10°  (B) 6.10 x 10°°  (C) 655 x 10° (D) 732 x 10°’
30. Reuof aodi wigrll wddl atdl agfue wuvilAdl dlsidl
(A) wedl on . (B) audl i 9,
(C) 2139 ¢ 8. (D) il 2s wa el |
31, aSdod Yl P wid Q uiglidl iu-dlse RRMI wugst Ve 6 Vo 6. ed %
Vo < Vp gl dl d-l sl By
(A) rp > g (B) rp < ry
C)rp=rg (D) UMl s w -l
32, 2ute Ylsqu wlBul A yutr o
"Be + fHe - ‘C + X 2 uBani X g eald &7
(A) 4Dt (B) WA (C) WA (D) Saszl-
33, s AR dradl w211y 5 min ), dl 20 min A 2id d-l 251 ¥l
[Qeil¥d a3, . -
(A) 625 (B) 78 =% %, yt)g5°* (D) 93.75
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For GUJCET Common Entrance Test » Physics 5

34.

35.

36.

37.

38.

39.

40,

A2 sulde s 5%3\%{; Al 54 Ol culd & 7

5 eg |

(A) NOR (B) NAND (C) AD - (D) OR

Sl M2 NPN a2t sl 1010 SAsple ABeaul 107° Ag-gui Ml . axidl
5% SASAA AS» udls A B, A pFReA W A4 (e = 1.6.x 107°C)

(A) 0.98 (B) 19 (C) 49 | D) 0.95

sugladl ealda wRua w2 (1) V, > Vo ud (i) Vg > V), 6 Bu e [Bg A vt

B 4Rl AMded dAd s Q Q 9.

Rl QR Dy A D, 2uesl sl © dn :llsd)

A
A 50Q D =

t im0

C50Q - %JT |

(A) 25, o (B) 50, e (C)*m, 25 (D) 25, 25

3RUR dd AL 12 V 8. A AM diowdl {sgdad 25 50% Feal slu dl Mlgaléal
dodl ARy Voamdl Wi,

(A) 3 (B) 6 (C) 12 . (D) 9

hy Grusal Al 2irell d.dl.-dPl4 uuRaAl QiR A0 o

@A) b (B) hy'” (©) hr'” (D) by
B[ £l vid vl BUSR _ 'f du .

(A) adusi (B) ol (C) s (D) wdd

SIS UL MaH Gl vl asgi-l g4 Gl —3.4 eV 8. dl 3 mararl
sl R Qo eV 8.

(A) 6.8 (B) 3.4 (C) -6.8 (D) -3.4
Qoaag
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| GUJCET - ANSWERS : aliGsfstict |
1

=————— MAY-2017 : QUESTION PAPER-1

-

I’

1. Ans. (B)
.
Solution : E, = E, = 52;
Az Al @A E = E, - E,
= E =0 |
sl YHddl E = E; + E,
o
= E = <
2. Anms. (C)
PERIRICTE)
Solution : $45U = .
0, = i_, o, = ‘;q;
3. Ans. (D)
| Q W
Solution : 3Rz C = v \% o)
Q2
C = N |
C = MgT‘z - MLT2QY
4. Ans. (B)
5. Ans. (A)

Solution : Rgd uule A2 4uadl
W = PE [cosO; — cos0,]
0, = 0 and 8; = 180°

= W = 2PE
6. Ans. (C)
Solution : i, = 2.5 A

so.1=1; + I
dell add) Rgduaws 10Q =1 xR =25
Rgduals asdl 40 Q =10x2.5=25V

25
R :-__.il iy

25
B = e
s R =8 8
7. Ans. (D)
Solution : &G, 23, I
= 12 k@ £+ 10%

8. Ans. (D)
Solution : S; {u- &3 v S, scllos
12
adl, | = 7
=7=12A
9. Ams. (C)
Solution : Ha¥ diR-l Yetdlu & By = %‘:;
‘b{lm dlRdl Yuslu & B, = e
6Ty
yoisly & w2 §4 P, B = B, + B
[ [
_ & B
3 nr
10. Ans. (D)
Solution : dl+(l szl Yusly &8s By, o<

. 1
2, o8Il UYL By o ~

del (D) [Asew wRl 6.

11. Ans. (A)
Solution : ut5ld Azl GuR e AUl 52 .
F = gvB sinB

but 8 = 90
F = gvB
2E ! .t N -
adl v = 1’—— (Al oGt E 9.}
: m _ - T
B Hodi F = 5.6 x 1077 N
12. Ans. (B)
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72 For GUJCET Common Entrance Test « Physicsﬂ
. _"“\
13. Anms. (D) aell (3ud sl
B? " Energy Vot . | 1705
Solution : 2—11—{]" Energy dgnmty ~ Valime Voo 2.5-0.5
MI2T? Vmad o L
=~ = [ML'T] Vmea 2
K 21. Ans. (B)
14. Ans. (D) Solution : emf e = NBA® sinwt
Solution : 1 = Mo[l + Al | for e, sinmt = 1 ¥

15. Anms. (C)

Solution : Gl 1l

16. Ans. (B) |
Solution : AR UAsA sy w2

Vil =Jo
| up | < fe
17. Ans. (D)
Solution : d = 4 c¢cm mw=15
C c _ 3x10°
B=3 7Y 70 s
-2 x 10° m/s
HAHY ¢ = i = 4)(10"2
v 2xl10®
=2 x 1070 A=y
18. Ans. (C) B
Solution : ¥leagll
D 25
M = };‘ = m M =2
19. Ans. (D) |

1
Solution : 2R Gl 5 mv?: = eV

2oV
i m

v =
h
A S A = —
| my
j = h B h
- Ez_\i A2eVm
m
20. Ans. B)
1
Solution : 5lell Gof E = ¢ + Emvz
_ Jz(E—qa)
T k.
m

adl e, = NBAW

Bl Yl
e =45 % 10° de
enax = 4.5 kV
22. Ans. (B) -
Solution : 3 A WL & A4 HAA G,
Arad uRme = % - j
23. Ans. (D)
Solution : Wax P = LV. cos@
'cnsB=P-= o = 0
. IV  3x210 '

24. Ans. (D) 7
Solution : WRWA Avuddl by I =1
cos(wt + ¢) L

1o

I@ = 50 A so Irms = JE
25. Anms. (B)
V = 5 cos 1000t dle

= 252A

Solution :

V = V; coswt
Vo=5volt  ©=1000rads
L=3x10" H,R=4Q
Yo Hellg 10 = —F .
7
s .S
0= fo2+rr 574
26. Ans. (C)
27. Ans. (A)
_Su]utiun : f=9 GHz =9 % _109 Hz
c=3x10" ms i
8 ~1
)( O e
. P 3x10° 10 -

L
f 9xl10® 3
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For GUJCET Common Entrance Test « Physics 73
dousd €l aiolll vl 34, Ans. (€)
. length _ 1 . Solution : Trtlth 2ole
A E;_‘ AND 9lgid w13y 20via
28. Ans. (B) A
Solution : d sin® = +m) 0 0 0
el d = A 0 1 0
ddl sin6 = tm ] 0 0
Y2 max. = sinf = | | ] ]
m = %] 35. Ans. (B)
ddl ustlid weusizl auui qud = 3 i
Central maxima + either side of central | Solution : As@rl ucie A6 B = E
maxima 95% of i
29. Aws. @) = 5% ofig
Solution : sielly [QdeA sing = 1_252: adl B = E = 19"
Y&l ysdl [Asey (B) aud. 36. Ans. (A) >
30. Ans. (B) Seolution : V, > Vg e
31. Ans. (B)

1
WRHIY wu-Alsel Voo —
! 3

Al rp < rg SRA S Vp > ¥
32. Ams. (A)

Solution : Balancing atomic number i
mass number on both sides Ln (=Y2let)

33. Anms. (D)

Solution :

Solution : -3y #,, = 5 min %4 44
t = 20 min
- 20
-2yl ddR = T =
~-[ -0
7N, L2 2
N _ 1
= N, 16
_ Ny
T 16
[Q0{[%d
Y= | TN | x100= N, | X 100
e 1
= 1-*} x 100 = 93.75%

L 16

39.

Al o (RUL A UG ALY UM

9.
S0 x50
Ri=S0+s0 ~ 258
Ve & Vi
37. Ans. (B)

A
Solution : MRYAUL s p = Am

c

50
A, = A, = [ﬁ) x 12
= A, = 6 volt
38. Ans. (D)
Solution : Glaud- &.dl, 242 = hy

AR o< A,

wA s o (Range)”

ddl g o« hT

Ans. (D)

40. Ans. (C)

Solution : $asit-ll sa Gt
E = -34 eV

Raf Qof U = 2E
— U = —6.8 eV
gaa

T
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| GUJCET
1 BOARD QUESTION PAPER-1
MAY-2017 B
eeeeee—e—————————————mm - . ..
Time : 1.00 Hours] 22u1efdistiol os2e)  [Total Marks : 4

o Em == .
----_--_---_--H---—

adi Ry i UYL 54 4 7

(A X5Y; (B) X4Y; (C) XaY; (D) X3Y,
3. 58 wlRs nendlui eds wiRdl dous uui 8 7
(A) BaSO, (B) HgS (C) CaSOy (D) ZnO

3. 001 m KJFe(CN)s] -t oella glaai- sifigui adl veldl 0.0744 K 9. stasdl Hagy
W wANLs 1.86 3@ Beloun D™ &, A areng ysl QoL dl gl wy

vRRYA 5y S 7

(A) Ky[Fe(CN)s]  (B) K;[Fe(CN)s]  (C) K[Fe(CN)¢] (D) Ko[Fe(CN)g]
4. [Rud deu 28 visid el 1.6% sag, 2.4% yRui gsart g avuferudl 9. o

e el glds Ny A dal ol el 1R’ €y dl st weldld sy

e Zeal swxpla w4 7 R 2y s 60 wHHMA)

(A) 30 (B) 40 (C) &0 (D) 90

5. AQA-u U4 su wdld gaed Gosa-lg 102.2°C 2l ? well-l Hiad Gyt unis 2.2
M@ Relaud a2,

(A) | m CH,COOH(B) 1 m NaCl  (C) | M NaCl (D) 1 m ogla
6. 02 A s verldl vy sla@dl VC - Ay A 2udu A 4R A7
(A) HCI (B) NaCN (C) NaCl (D) HCN

7. Pt|Clyg | Clicy|| Clicyy | Clag | Pt stelat 81 w2 sl Rusen ateilon & 2
1 o 1 &R

(A) AG = -ve B)C,>C (OE,=0({D)C >C.
8. e ey CuSO, Ut siavtd (A% yal 4 Rgafeur- el gl pH
(A) adld w2 8. (B) w2 8. (C) wun ¥ 8. (D) 4l 8.
9. ~0A-u U4 6 wgld g ylase Bl 8 ?

(A) B& wadt . (B) Reua- (C) sada (D) nena+
10. -0A-u ¥4 5§ Cu Al 52l g ?
(A) Rduge ~ (B) WHade () WS (D) s
11, 65.4 3u Zn -l Yig 16l MRS A uBuel Jeen i WRRAsal] Resart 2l
(MR €0 Zn = 654, N = 14, H = 1, 0 = 16 auy e
(A) 65.4 (B) 126 (C) 130.8 (D) 252

108
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109

A A4 su AR Al and HuRMgpd Sles il Alw Qudda § 7

12.
(A) $R$IRs AR - (B) 51284 RR
(C) Wl s18Rs AR (D) sl AR
13. (CH3); CONa l 1A-u U4 su uBus wd uBu @l wa e ?
(A) CeHsBr (B) (CH;),CHBr (C) (CH;):CBr (D) CH3CH,Br
14. DAL U4 5§ uBuAl seols uy Rads ddd qu & 7 |
(A) CHCl; —M (B) sdlke, + Ca(OH), —
(C) sdlRal + sl [H — (D) csg- + 3Cl, (i AlCh) o
15. 02w Al su Aot usiely s dAgq Sl Aot A % HAselR] i Yo 8§ 7

(A) n-03erd (B) Uil Urert (C) Al A2t (D) n-Ue2-
16. Brude $A-lM2 A [ AICL Al wiwdldi wBU sl 5§ Ayl wd & 7

(A) o-SUl]l NRABAA w4 p-Sellsl AR AL

(B) 0-8LO3L50 AR2UZAA 2 p-s1Ssll ARG

(C) o-Rudd ARERBAA 24 p-Bandd ARABAA

(D) o-RUR( AR2BAA A4 and p-Palsll ARABAA

17. STP 2 560 (Melldler suetSo diy Gt srell Hi2 ARa w1l 32l s da-ua-dl
WEuL sl ud 7 (Sl BN ea 46 M )

(A) 11.5 (B) 1.15 (C) 4.6 (D) 2.3

18. s\Bs AR QA Brlad 2R 4 nadl luwg TUPAC M.
(A) Asel e501-2, 4-319-1, 4-31dld (B) dusdl e5m1-2, 4-319-1, 4-314l
(C) wusAl €51-2, 5-361-1, 4-3le (D) AHSAl €502, 5-3167-1, 4-3iHl

19. 298 K diwd X, + Yo, — 2XY + 20 KJ uBudl uBusze Gof 15 kJ Sl
2XY — X, + Yy UBuAl aBusa Glof dedl ua ?

(A) -15 kJ (B) +35 kJ (C) =5 kJ (D) -35 kJ
20. % s IRUAFRA dra-dl kY AHY 15 (B-le ¢ld dl 50 i RN, draaiel
] seis »ia Jeal g auq 2y e !
(A) 375 - (B) 25 (C) 43.75 (D) 46.875
21, s uBuidl AdL NS4 Yt 1.75 x 107 d2 e A5t B dL A uBU 22Uy
Yty oc ;
(A) [Ry]™ (B) [Ro]™ ©) [Ry)? (D) [Ry]
22, 25°C dwyruA greel 2aRaue AUl Buevi el 4ew 0.5 2 wid:Bed g@{ 0.4771
9 dl 4 e e wuRANAG MR Jod uql 7
A) 12 (B) 6 C) 24 (D) 3
23, Qeui gioy s suL SHeMi GRRAM 2iadi 0 Bgpl wd & 7

(A) falRaz 2A8d  (B) A« B - (C) &k By (D) &4 |
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24, DA 4 AgiRs oy sl WAl s sl 8 7
. (A) ¢ > Mn? = Fe (B) CF*" = M’ < Fe™'
(©) Cr** < Mn** = Fe’* (D) Cr* < Mn®* < Fe”*

25, Mid s dra-l Aeelni & R Wi © 7
(A) Ce, Gd A Lu ¥l A5 $asa-lu u-unl & Sasgl 5d stsHl Ml 3

(B) ARASRHL Pm WAl dx 8.
(€) ARSI wuudlser A-edll e AU sl 4Y sl 8.

(D) AAASR-AL 2RSS Als €l 9.
26, (A-u U4 sy el 2uuet Al el dowedens wuadl usiag EEEENN RN
(A) [Co(H,0)]* (B) [CoF™  (C) [Co(CN)gl™ (D) [Co(NHy)J*
27, LA U4 2l 56 Aeet oelly grawt, 0.1 M AgNOs 08 g 2itest ol wy
AFE AN 2wy ? |
(A) [PtNH3)Br;]Cl; and [Pt(NH;)(CL]Br,
(B) [Co(NH;3)sNO4]Br and [Co(NH3)sBr]NO;
(C) [Pt(NH;),Cl,]Br, and [Pt(NH;)Br,|Cl,
(D) [Co(NH;)sNO;]Cl and [Co(NH;)sCIJNO;
28. 1A U4l 56 [Qurlsaa Wa B © 7

(A) 2CH,COOH —29s/8 (B) 2CH,CHO Nl

(C) 2CH;COCH; — 5 (D) 2HCHO — 222Ntk ,
29, . 5§ AWw AdARze sALEL 2uug Al 7

(A) (CH;);C-CHO (B) C¢HsCHO

(C) CH4CHO (D) (CHj),"CHCHO
30. gt@%ﬁ SfRetSs w7 1-LBelfa—Sha—1-ldl 5l e usardl yoy s 56 1A
' ?

i, { O e, —CHﬁCH—CO—@
B) @-CH=CH—CHO
(©) CHz—CH—CH-@ |
gcollegeduniaa
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DA UL 56 UGBl s ur A w5 WA qdlus uesi Ay

M 1
(A) CeHsCl + 2N, f:;f > (B) CHyCH,NO, __LiAHg |
60 M3 )
(15 CHUILNG =y (D) CH;CONH, —talNeod ,
32, RS AU W2 s 53 oy @ ? ’
(A) ey WAHAL AR5 gy
CH;-NH-CH, > CH3NH, > CHJ—T’\I—CH3
CH,
(B) Gesetrt [Gig-l sy
(_",1-13—1]4—(3}{3 > CH;-CH-CH, > CH,-CH,~CH,-NH,
. CH,
(C) UYL URWML ADscid sy
CHS”‘I?]*_CH?. > CH;-NH-CH; > CH;NH,
CH, |
(D) %Iy qlHdi-l $¥ :
CH3—TI~I~CH3 < CH;3;~CH,-NH-CH3>CH;~CH,-CH,~NH,
CH;
33, Al ARy sl SAAa wd uBa adi 5§ ARASH Alur wA & ?
(A) ol (B) [3-la (C) AnUEetss (D) AReURelss
34, sl ARA AR sl Bdlus 2004wy du B ?
(A) adl- (B) eyl (C) u@-ud- (D) el
35, DA-u U4 sy WA [ResHl gl 8 7 |
(A) LR{l- (B) 3l (C) eyl (D) S=yla-
36, 00 U4 sl Wellnr Arr wA Faeild WdlHR 6 7
(A) 38 (B) -uydl 6, 6
(C) Aludld 2, el 6 | (D) Abeuse
3. s Vel Gualol iy wsusll srtaeu wd ©
(A) Rl (B) Wdleudl (C) e5¢l (D) »lal -
38, QA el U4 s sieiferSiesd aaua Al auk 8 ? .
(A) A&y (B) Al (C) vy (D) ysidw
39. Qdeua sul Ustag N O 7
(D) uRRR1MS

(B) de{lAlus (C) ulids
0. 03y V4 wgel-l 56 Aol wdlPis Fersla sl o ollBRS w5R A 8 7
(B) K,[Ni(CN)4] and K4[Ni(CN)y]

(A) K[MnQ,] and Ky[NiCly] :
(C) K,[Ni(CN),] and [Ni(NH3)z Cl] (D) K;[Fe(CN)s] and Ky[Fe(CN)s,
Q0 0Q .
| gcollegedunlaa

T

(A) ulaysimdl



" QUESTION PAPER-1 Jﬁ

1. Anms. (Delete)

2. Anms. (B)
Solution : HgS Rhombohedral 6.
ddl, a = b =
3. Ans. (B)
Selution : ATy, = 1Kun
0.0744 =i x 1.86 x 0.01
= =4 |
adl, n = 4
K;3[Fe(CN)g] 3oL 9.
4. Ans. (B)
_ 1.6 2.4
Solution : Mg 0
- M = % X 60 = 40 Ax/ME
5. Ans. (D)
Solution : AT, = 2.2 = i x 2.2 x 1
= J = ] |
6. Ans. (D) _
- Solution : HCN 1s weak clectrolyte.
7. Ans. (B) |
Solution : CI° —— CI°
3 . c?
E.n = —0.059 log ;1_
€
= 0.059 log ('{;J
Ci > C
For spontaneous process so incorrect
is B. - LN
8. Ans. (B)
- Solution : [Agdldeuy- e(Ru+ H,SO, form,
adl pH @2 &
9. Ans. (C)

Solution : gaolelr Ugld tig-tl Yhaswt el
_ 3

10. Ans. (D)
Solution : Aas$e CuCO5 Cu(OH),
11. Ans. (B)
: Zn + 4HNOjoney ——
Zn (NO3), + 2H,0 + 2No,
12. Ans. (D)

Solution

Solution : s3\As R
0O
|
H.PO 28N
> g | "oH
OH
13. Anms. (D) :
Solution : Sy2 u3us
14. Ans. (B)
Solution :
sdlad + Ca(OH), ——> CHCl; + (HCOO), Cs
| 28] 538 &
15. Ans. (C)
CH,

| |
Solution : CH;—C—CH,, all H are same

CH;

16. Ans. (B)
Solution

OH “

C—Cll;
@-—om{: CH;—-——&»@ @
L——Uh

17. Ans. (D)
Solution :

" - |
C,H,OH + Na — C,H,0®Na™ + 7t
18. Ans D)

s ﬁtﬁls
Solution :

collegedunla
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—_—
19. Ans. (B)

golution : ApH =-UBul uBuse Gof —
wBuldl wBuse Glof

= -20=15 - 72
So, +35 kl.
20. Ans. (D)

Solution :

s L Ag 30 A s A

60 Ag.

Ap T 7 ’ T;l i —3"“- — oy
3.125 g remain '
gy = 46.875
21, Ans. (B)
olution : {12 UBwl Qo
b e R
all, (Rg)™
22. Ams. (B)

Solution : log(x/m) = logk + - logp
logk = 04771, k = 3

=5 4 = (.5
n
Z 05 o g5
= ) 6)
23. Ans. (D)
24. Ans. (C)

Solution : Cr = 34’ 3 unpatred electron.
Mn™ = 3d° 5 unpaired electron.
Fe” = 3d° 5 unpaired electron.

25. Anms. (B)

Solution : Pm is not actinoids

26. Ans. (C)

Solution : Wavelength of light absorb

1
~ stability of comp lex
7. Ans. (C)

Sﬂlnti{m : AgBr — 19l Lol
AgCl — 3t

28. An_s. (Q)

Solution : |

H—C—H y H—C ﬁ) + CH,0OH
|
O O

29. Ans. (B)

Solution : Aromatic aldehyde not give
Benedict test. |

30. Ans. (D)

@CHzm-co

31. Anms. (C)
32. Anms. (O)

33. Anms. (D)
N; CI®

@ +C3H;0H ———r@ + CH;—C—H +'Nz+ HClI

I
0O

(ARafads)

34. Anms. (A)
Solution : Fact.
35. Ans. (B)
Solution : Fact.
36. Ans. (D)

Solution : Qa2 Wellur derid 243 Buaoiffg
Welir 0.

37. Ans. (A)

Solution : Fact.

38. Ans. (D)

Solution : Fact,

39. Ans. (O)

Solution : Veronal is Tranquilizer.

40. Ans. (C)

Solution : Ky[Ni(CN),] = Ni*? = 3d8 4¢°

With cyanide, Ni*? form square planar
and diamagnetic complex.

K,[Ni(NHj), Cl,] —» Diamagnetic and
square planar complex. |
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